ab(x = unbunte Rezeptorerregung Fap(X)= unbunte Rezeptorerregung& modifiziert

X'
— X, b —
31 ekl g a=1,00, b=1,00 e=2,718282 3T Fanle) = X/a  gxla a=1,00, b=1,00 e=2,718282

a:LOOl'Ozl.OOO

21 FLA%) b=2,00

w

SRS R EENS /— Flfl(xf) . Flil(x,)
~
.
X /a X la
~ —e
s __ex,_la_“€—x/a
m 0

L =28cd/m? L =28cd/n?

% =log[LLy] | il 3 4 x=log[LiL,]

p(X)= unbunte Rezeptorerregung& modifiziert Fap(X)= unbunte Rezeptorerregung& modifiziert

e 9—'
X b et X, b
LFa(%) = Xilay gxifa a=1,00, b=1,00 e=2,718282 3T Fan(xr) = X/ay g la a=1,00, b=1,00 e=2,718282

al
3
a:2,001‘0:1,000 3:0‘501'0:1_000
2 b=1,00

4 x =log[L/L,]




